Ratio

1072

107

10

1.4

=

0.8

B Tes

& ey
onstant
ean
Igma

Ties
ev X
onstant 0 3
ean =Q.17101
mna.

-10 -8 -

[ pull of @parameter

6 -4 -2 0 2

S S A

4 6 8 10

10-8 6 -4 -2 0 2

[ pull of dxy parameter

Ratio

107}

1072

10™

Ratio

| pull of qoverp parameter

107!

1072

107

10

1.4

0.9

1= -
UALRN RARAN RRARE RLLLI

0.8

-10-8 6 -4 -2 0

246

8 10

0 etalp6to2p0

[ pull of B parameter |

107}

1072

1073

10

Tes

es

d Dev
nstant

an
e o

0.084
0 Q%‘T»A

res

Ratio
=

0.8

0.6

[ pull of dz parameter

107}

1072

10™
9 1.z
g A

0.8F
0.6F




	Contents
	Page 1


